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y(x)= e (cos 2x + sin 2x)
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. Use the transformation z=sinx to solve —J;+(tanx)—y+(cos2 x)y=0. [90 %+

dx dx
AT 10% )

Solve the initial value problem
ay"+by=0, y(0)=0, »'(0)=1,
where a and b are constants, but a = 0. [91 [l 12%]

Solve y"—2y'+10y=0. [88 F[I[I BT AT 10%]

Solve the initial value problem y"+by'+10y =0, y(0)=0, »'(0)=1. Given (a) b =7
(b) b=6. [91 1T sf[F+ T 20%]

. Two students solve the same initial value problem y"+ay'+by=0 with given initial
conditions y(0)=4 and y'(0)=B. Using wrong constants for b and B, one student
got the solution y, (x) =™ (cos 3x+2sin 3x) . Using wrong constants for a and A4, the
other one got the solution y, (x) =-3¢" +2¢’" . Find the correct constants for a, b, 4, and
B and solve the initial value problem. [90 ’F", {?‘i‘?ﬁ?ﬁ’? 10%]

. What conditions should be imposed on the constant coefficients a, b and ¢ in order to
guarantee that all solutions of the second-order differential equation ay”+by' +cy=0

are bounded on the interval [0,00)? [90 % *?‘ﬂ{ﬁ’ﬁ’? 5%]

. rﬁﬁgiﬁy"+4y'+(4+af)y=o, y(0)=1, »'(0)=w-2, @=0. [91 FIERE T 10% ]

: Ejﬁ(2x+l)2 y'+(10x+5)y"+3y=0. [93 F‘ﬂﬁ@ﬁ,ﬂ






